Hurterpaan, conepwauue shx u chx

2 2
685,11, shxchxdx= sh® x = ch’x const = ch 2x const,
2 2 4 :

685.12. (shxcntxdr=%,

685.13. S shxch® xdx =%

Y
L)
685.19,  {shuch?x de="1 [p+~—1].
685.21. Ssh'xchxdxs“’;".

. * __sh & x
685,22, Ssh xch xdx—-——32 3
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685.31.
685.91,
686.11.
686.12,
686.13.
686.19.

686.21.
686.22.

686.31.
686.91.
687.11.
687.12.
687.13.
687.19.
687.21..
687.22.
687.29.

687.31.

687.32.

[RIEPBOTMYECKHE @YHKUMH [685.31

S%h’xchxdx—-?%—x.
Sshl’xch xdx=Sl;P:1x [p#=—11
Ssh—xdch—x—lnﬁhx‘
SEtT}%Tx —l—lnlth 1.
(s =gy Inlthl.
Ssh xd:hﬂx (p—l)lchp ’x+gshxchl’-2x [p=1].
Ssh” if:h x st:x — arctg (shx).
Sﬁ—i{m'__ —2¢th 2x.
Ssh’ixchx= —ZSI:Zx—ln I thxl.
Sshpixchx=—(p——1)ihp‘lx—Sshp-zdichx (p+1].
Xthdwathxdx——lnchx [Cu. 691.01.]

sh x dx 1
S % =———c—ﬂ=——sechx.
Ss—kcl—hxg:——ﬁ:t—h;—x—l- const,

shx dx 1
§W=—m_—1mp——l—x [p = 1].

2
S TX dx =shx— arctg (sh x).

chx
sh? x 2
T dx =Sthxdx—-x—thx

sh x

[Cw. 691.02.]

sh? x
Sch"xdx:_ (r

sh? x sh? x
Schx dx = 5 —1In chx.

— 1) ch?—1 x+p

SSh ¥ dx = chx + sechx,

1 dx
—1) ch#=%x

[p =+ 1].



689.02]

687.33.

687.34.

687.39.

687.7.

688.11.

688.12.

688.13.

688.19.

688.21,

688.22,

688.29.

688.31.

688.32.

688.33.

688.34.

688.39.

688.7.

689.01.

689.02.
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SSI‘ "dx_gthmdx——MJrlnchx [Cy. 691.03.)

x| 1
chtz®” T 3ch®x chx °

sh® x 1 1
Sc——_h/‘xdx=(p—l)chP"x_(p—B) =% [p=1 nm 3].

shP—%x th?-'x
S ch? x dx = p—1 [p 1]
chx
(5 *ax = cthx dx = In|shxl. [Cw. 692.01.]
chx 1
Ss—mdx——-—gﬁ=—cschx.
chx 1 cth? x
Smdxz_Qshzxz— 2 + const.
chx 1
SgtlTidxz—(p—l)shP—’x [p+ 1]
SCh ML g —chxIn|th
sh x
ch? x s
Sshz dx _S cth® x dx =x —cth x. [Cu. 692.02.]
ch® x ch x ’
Ssh"xdxz—(p——l)shf‘"x p—lS e [p =+ 1).
ch?®x (‘h x
Sma’x ——-Injshx|.
Szrzxa’x*shx—cschx
ch®x
S D dx = S cth? x dx = [Cy. 692.03.]
ch®x 1 1
Ssh4 dx__SShsx—m'
ch®x 1 1
Sshpxdxz—(p—l)shP‘lx—(p-—S)shP"’x [pqﬁl HIH 3]'
ch#—2%yx cth?—1x
S Px GX= p—1 [p#1].
sh x dx .
Sm’f=1n(chx—r1).

shxdx
SCT_— =1n{chx—1),
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689,03.

689.04.

689.05.

689.06.

689.07.

I'HNEPBOJHYECKHE &YHKUHHA [689.03

dx
Sshx(chx+1)="‘ (chx+l)+ I‘th_

dx 1 X
Sshx(ch x—l)“Q(chx—l)—§1“|th?
S‘ sh x dx —ln< chx

chx(chx+1) chx—i—l) :
S sh xdx =1 <chx—l
ch x(chx—1) T ~hx )
ch(m+n)x , chim—n)x

Sshmxchnx dx = St T2 m—n
[m® == n®; upw m*=n® cu. 685.11].
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